Dual-Stack

EDNS0:512 EDNSQ:1232 EDNSQ:4096

NOERROR for ‘.br’

Pv6
11232 EDNSP:4096

9

EDNS0:512 EDNS

IPv4

EDNS0:512 EDNS(:1232 EDNSP:4096

All Zones without DNSSEC returnin

sui(3w( g)ouapy — 3 (x)louawy)Sop = (A) f sui(3( g)oua ) — 3 (x)louawy)Sop = (A) f sui(“30( g)oua ) — 5 (x)louawy)Sop = (A) f

N >~ S >~ > >~
A v A v A v
> 0 > > n > > i >
—~ o —~ o —~ o
1= o o oS 1= o o oS =4 o o oS
S 8 S o X, o o o S o S 8 S o o X, o o oS S o S 8 S o X, o o o S o
- o - © [S] T Qo o - o - - o - - - - o - b o i 0T -
1 1 1 1

|
l
|
l

- Pa no 9 - Pai no 9 - Pai no
Path 1280 PMTUD Path 1280 PMTUD Path 1280 PMTUD
1280 (no PMTUD) S 1280 (no PMTUD) S 1280 (no PMTUD)
L 1280 (PMTUD) B L 1280 (PMTUD) 3 L 1280 (PMTUD)
- 1500 L5 - 1500 L5 - 1500
[} [}
I Path 1280 (no PMTUD) S o I Path 1280 (no PMTUD) T o I Path 1280 (no PMTUD)
- 1280 (no PMTUD) @& - 1280 (no PMTUD) P F - 1280 (no PMTUD)
- 1280 (PMTUD) < 3 - 1280 (PMTUD) R% - 1280 (PMTUD)
- 1500 83 - 1500 35 - 1500
L Path 1280 (no PMTUD) o L Path 1280 (no PMTUD) N L Path 1280 (no PMTUD)
1280 (no PMTUD) o 1280 (no PMTUD) 9 1280 (no PMTUD)
L 1280 (PMTUD) . g L 1280 (PMTUD) g L 1280 (PMTUD)
L 1500 L L 1500 & L 1500
I Path 1280 §o PMTUD) o 8 I Path 1280 (no PMTUD) S I Path 1280 (no PMTUD)
L 1280 (no PMTUD) o 3 L 1280 (no PMTUD) g L 1280 (no PMTUD)
1280 (PMTUD) r 3 - 1280 (PMTUD) %) 1280 (PMTUD)
- 1500 O B - 1500 8 L 1500
R | w
- Pat no o o - Pat no © - Pat| no
Path 1280 PMTUD Path 1280 PMTUD Path 1280 PMTUD
L 1280 (no PMTUD) ws L 1280 (no PMTUD) S L 1280 (no PMTUD)
L 1280 (PMTUD) o g L 1280 (PMTUD) Ry L 1280 (PMTUD)
- 1500 Z : - 1500 - - 1500
o
L Path 1280 §o PMTUD) £ o ummm L Path 1280 (no PMTUD) 2 L Path 1280 (no PMTUD)
- 1280 (no PMTUD) [y - 1280 (no PMTUD) o 9 - 1280 (no PMTUD)
- 1280 (PMTUD) 5 2 AEEE - 1280 (PMTUD) O g 1280 (PMTUD)
I 1500 S o I - 1500 Wnn 3 - 1500
I Path 1280 (no PMTUD) O o mEEE I Path 1280 (no PMTUD) n_.w 8 I Path 1280 (no PMTUD)
L 1280 (no PMTUD) S - L 1280 (no PMTUD) = 9 L 1280 (no PMTUD)
L 1280 (PMTUD) 2 o nmmm L 1280 (PMTUD) > o L 1280 (PMTUD)
- 1500 Z o nmm— - 1500 2 - 1500
- Path 1280 (no PMTUD) w4 o m—— L Path 1280 (no PMTUD) €. L Path 1280 (no PMTUD)
- 1280 (no PMTUD) sz o INEE - 1280 (no PMTUD) 25 ¢ - 1280 (no PMTUD)
1280 (PMTUD) =~ g IHEE - 1280 (PMTUD) 0= g 1280 (PMTUD)
- 1500 o O AmEm - 1500 w & - 1500
- Pat no c o W - Pat no C - Pat no
Path 1280 (no PMTUD g Path 1280 (no PMTUD e Path 1280 (no PMTUD
1280 (no PMTUD) O ofHN W 1280 (no PMTUD) o o 1280 (no PMTUD)
L 1280 (PMTUD) N 25 = ENEN - 1280 (PMTUD) N & L 1280 (PMTUD)
EEE L 1500 Z o mmm ENEN L 1500 3z 8 L 1500
21S'0SNa3 Nmmﬁ“omzow 9607:0SNA3  215:0SNA3 NmN_tomZn_m 960%'0SNA3  21S:0SNA3 waﬁ“omzom 960%:0SNA3 2IS'0SNa3 waﬁnowzom 960%°0SNA3  215:0SNA3 wa_—“omzom 960%:0SNA3  21G:0SNA3 NmN_—”owZn_m_ 960%:0SNA3 21S'0SNa3 NmN_—”owZn_m_ 960%'0SNA3  215:0SNA3 Nmmﬁ“owzow 9607:0SNA3  215:0SNA3 NmN_tomZn_m 960%:0SNA3

PAdI 9AdI oelS-leng PAdI 9dI oelS-lendg PAdI IdI oElS-lend



